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 Russan Barge Haulers 5SongHaulers� Tw 3.9716 -1.2 Td
arr. for men s chorus, byP. Chesnokov2Hey, lLitte cudgel, heave-ho!.Hey, green oak, it6�Allmove, byitself,.Let6�s puAlland sayt �Heave! �Haule0 -182 Dm(Along the Volgca iver6�s rocky shore,Haulers� Tw 0 -1.2 Dm(straining, the haulers puAlla bargec.)Tj
-0.0003 TwT*
(Heavbyis their load, they falter with each step,Haulers� TwT*
(and softly they sing the cudgel-songc.)Tj
-0.0050 Tw 0 -182 Dm(Would that rain sprinkte themHaule0 Tw 0 -1.2 Dm(or shade shelter themHaul
-0.0020 TwT*
(on this scorching, cloudless day;Haule0 TwT*
(even this would help them endure their bondage,.)Tj
-0.0003 TwT*
(makeyit easier to sing the cudgel-songc.)Tj 0 -182 Dm(Tears gush forth from their eyes,.)Tj 0 -1.2 Dm(breashtsare strained to the limit,Haul
-0.0020 TwT*
(and the harness cuts the shoulder..c.)Tj
-0.0003 TwT*
(but stiAllthey must sayt �Heave! � again and again.2)Tj
/T_1 1 Tf1-18424 -1.2 Td
(text contbined on page0 1)2)Tj
/31_1 1 Tf-0.050 Tc 0 Tw 3 7.20 22 Td
… �)Tj
/T_0 1 Tf
0 Tc-1.326 0 Td(,2)Tj
/31_1 1 Tf-0.0490 Tc
-0.0012 Tw0.2556 0 Td(  �‘B¥†‘Ï�(•)Tj
/T_0 1 Tf
0 Tc02 Tw 49936 0 Td(,2)Tj
/31_1 1 Tf-0.0480 Tc
-0.0012 Tw0.2556 0 Td(  ‘�N6� ¡)Tj
/T_0 1 Tf
0 Tc02 Tw36.046 0 Td(!2)Tj
/31_1 1 Tf-0.050 Tc-09.219 -1.2 Td
… �)Tj
/T_0 1 Tf
0 Tc-1.326 0 Td(,2)Tj
/31_1 1 Tf-0.057 Tc 0.0032 Tw0.2556 0 Td( Z6�L™7†� �•)Tj
/T_0 1 Tf
0 Tc02 Tw 42656 0 Td(,2)Tj
/31_1 1 Tf-0.0517 Tc 0.0012 Tw0.2556 0 Td(  ž� ¢•)Tj
/T_0 1 Tf
0 Tc02 Tw22 0073 Td
´2)Tj
/31_1 1 Tf-0.057 Tc 0.0032 Tw0.418c
-0.70 Td(  367O �D™7‚)Tj
/T_0 1 Tf
0 Tc02 Tw364796 0 Td(!2)Tj
/31_1 1 Tf-0.050 Tc-1-19605 -1.2 Td
.05OD™7$N6� ¡)Tj
/T_0 1 Tf
0 Tc40.446 0 Td(,2)Tj
/31_1 1 Tf-0.057 Tc-ers� Tw0.2556 0 Td(  367OD™7$N6� ¡)Tj
/T_0 1 Tf
0 Tc02 Tw 47666 0 Td(,2)Tj
/31_1 1 Tf-0.057 Tc-ers� Tw0.2556 0 Td(  �� ‘Ñ)Tj
/T_0 1 Tf
0 Tc02 Tw2.646 0 Td(!2)Tj
/31_1 1 Tf-0.050 Tc--0.0050 Tw-1 2.4 -182 Td
.05O  �R6� �N1 Tf-0236�O ¢ 22B6‘)Tj
/T_0 1 Tf
0 Tc02 Tw 7. 15 0073 Td
´2)Tj
/31_1 1 Tf-0.057 Tc
-0.0050 Tw .418c
-0.70 Td(R6� †‘ �!)Tj
/T_0 1 Tf
0 Tc02 Tw2.9542 0073 Td
´2º †0062 -2 R6� �(*)Tj
/T_0 1 Tf
0 Tc-15756 0 Td(,2)Tj
/31_1 1 Tf-0.050 Tc-14.3819 -1.2 Td
€6� �$u� :•

Piano
(for rehearsal only)
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